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PART - A
CHOOSE THE CORRECT ANSWER. (10*1=10)
1. The distance between the points P(x;y; z;) from origin is
) J(G)Z = )2 = @)?) b) /(G2 + G2 + 2D
) (xg +y1 +2) d) none
2. The direction cosines of theline joining point P(x,y,z) and 0(0,0,0) where OP is r
WILL 0T ZT 012 =2
3. Find the plane passing through (3,4,5) and parallel té the plane 2x+3y-z=0
a) 2x+3y-z-13=0  b) 2x-3y+z-13=0 c) -2x-3y-z-13=0 d) none

4. 4.find the of the perpendicular from the origin to the planes ax+by-+cz+d=0

J(@%+b%+c?) J(@2-b%=c?) d R
a) £ d 14 bt d 0t J(@Z+b2+c?) 4+ J(aZ-b2-c?)

5. Find the symmetric form of the straight line

2) xtxy _ yF+ _ Ztz

X=X - zZ—2z
b) b YY1 es 1

! m n l TR
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6. The line x—lxl = y;nyl = z_nzl parallel to the plane ax+by-+cz+d=0 if
a) axyy by, + cz;=0 b) I+ my; +nz,;=0
c)al+bm+cn=0 d) none

1 A : e
7. x" = o where x=cosf + isinf and n beingpositive integer.

a) 2isinn0 b) 2isinf ¢) 2icosnf d) 2cosf
NN =S

8. Ll_r)r(l) =i
a)% b) % c) % d) none
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9. cosix=
a) icoshx b) coshx ¢) —coshx d) -icoshx

10. Imaginary part of tan(x+iy) is

siinh2y

siinh2y —siinh2y ) ) —siinh2y
) cos2x+cosh2y ) cos2x+cosh2y cos2x—cosh2y cosh2y—cos2x
PART -B
ANSWER ALL THE QUESTIONS (5X7=35)

11. a) Show that the points 2,3,5), (-1,5,-1) and (4,-3,2) fotm an isosceles right angled triangle.
(OR)
b) Find the direction cosines of the line joining the points (3,-5,4), and (1,-8,-2), direction
ratios ‘
12. a) Find the distance from the origin to the planes 6x-3y+2z-14=0
(OR)
b) find the distance between the planesx+2y-z+3=0 and 2x-5y+3z+=0.
13. a) Find the symmetrical form of the equation of the line given byx+5y-z=7;2x-5y+3z+1=0
(OR)
b) find the equation of the plane which contains the two parallel lines 2o % = Z—;-i;

i Ol 1 2 z+4
e =

2 3
14. a) Prove that Zo2= 7 — 565in?0 + 1125in*0 — 64sin’0

(OR)
b) Prove that cos®6= % (cos56 + 5cos36 + 10cos8)

15. a) Prove that sinh(x+y) = siiinhxcoshy + coshxsinhy.

: (OR)
b) Prove that sinh™* x = log, (x + Vx2 + 1)
PART -C
ANSWER ANY THREE QUESTIONS. (3X10=30)

16. Show that the straight lines whose direction cosines are al+bm+cn=0 and fmn+gnl+hlm =0 are
perpendicular if£ F % + % = Oand parallel if \/af ++/bg + \Vch=0
17. Show that the origin lies in the acqute angle between the planes x+2y+2z=0;4x-3y+12z+13=0;

Find the planes bisecting the angle between them and point out which bisectsthe obtuse angle.
18. Find the image of the point (2,3,4), under the reflectin of thr plane x-2y+52=6.

19. Prove that cos®@sin*6= 513 (cos96 + cos76 — 4cos50 — 4cos36 + 6¢os0)

20.If sin(@ + ip)=cosa-+isin then show that cos?6 = tsina
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